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PSYCHOLOGY
_ Paper - II
1. A mental representation of physical | 5. Match the following :
space is known as :
(A) Cognitive map )
(B) Heuristic (b) Kret schmer (ii) Extrovert

(C) Gestalt ' () Sheldon (iii) Phlegmatic
(D) Metamemory

(a) Hippocrates (i) Pyknic

(iv) Ectomorphic

2,  Which of the following is a dimension Codes :
in the structure of intelligence model ? (a) (b) (o)
(A) Memory _ ~
(B) Procedures Ay @ @) i)
(C) Content B) @) (i) Gv)

3. Which of the following are examples of D) G @& )

intrinsic motives ? .

(2) Hobbies 6. The environment as we perceive it
(b) Awards changes much less than our sensory
(c) Promotion inputs; the world remains stable
(d Excursion despite drastic changes in the sensory
Codes: input :

(A) (a) and (b) (A} Perceptual constancy

(B) () and (0} (B) Depth constancy

(© (a) only

(D) (d) only (C) Size constancy

(D) Shape constancy
4. Arrange the following in sequential
order while calculating t ratio :

(a) Semd 7. What is a stimulus or event which, when
Mean its onset is contingent on a response,
g)) SI§ decreases the likelihood of that

@ M aifs response to occur again ?
ean difference

Codes : (A) Negative reinforcement
A4) (), (©, ), (a) (B) Positive reinforcement
(B) (®), @), (a), () (C) Omission of reinforcement
(C) (o), (a), (), (d) ) :
(D) (@, (M), (2), () (D) Punishment
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8.

10.

Control of visceral and somatic functions
such as temperature, metabolism and
endocrinal balance may be attributed
to:

(a) Reticular activating system
(b) Medulla

(¢) Pons

(d) Hypothalamus

Codes :

(A) (a) and (b)

(B) (b) and (o)

(C) () only

(D) (d) only

Assertion (A) :

Reliability and validity are positively
correlated.

Reason (R) :

Attenuation paradox refers to decrease
in validity as reliability increases.
Codes :

(A) Both (A) and (R) are true, (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, (R) is
not correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false but (R) is true

Arrange the stages in proper sequence
according to the cognitive theory of
development of Piaget :

(a) Pre operational

() Sensorimotor

(¢) Formal operational
IrH‘l Loncrete oneratinn: 1

11.
(a)

®

(©

12,

(d

LR

Match the following :

Person selected (i) correct
based on personal rejection
interest
Person selected (i) correct
based on test selection
performance
Person rejected (iii) False
based on poor positive
performance
Person selected (iv) False
based on good Negative
performance
Codes :

(@ (b) () (d)
Ay @) Gv) @ @G
By ) @) >Gi) v
(C) i) vy ® (@)
Dy @) Gi) @Gv)

@

Phi phenomenon is related to the
perception of :

(a) Pattern
(b) Depth

(¢y Contour
(d) Movement
Codes :

(A) (a)and (b)
(B) (b)and (d)
(©) (o) only
(D) (d) only



LT

14. Urge to attain optimal levels of 17. Match the following :
performance on valued tasks is :

(a) Concurrent (i} Gives
(A) Affiliation motivation validity theoretically
xpected It
(B) Task motivation expec resuits
] L (b) Construct (ii) Correlates high
(C) Achievement motivation validity with a test
(D) Normative motivation measuring the
same trait
(¢} Face (iii) Forcasts the trait
15. The idiom “what you don’t know can't validity related
hurt you’ illustrates which of the performance
- > l’
following defence mechanisme ? (d) Predictive (iv) Gives overall
(8) Repression validity impression that

the test measures

(b) Regression the intended

(©) Reaction form_ation traits
(d) Rationalization Codes : '
Codes : (@ ) () @
(A) (a) and (b) (A) () (i) Gv) @)
B) @@ B) Gv) @ @) (i)
©) (a) © G) @ (@v) (i)
(D) (¢) and (d) D Gv) Gi) G) 6

) 18. Who proposed the structure of
16. Arrange the steps of test construction intellect ?

in a sequential order :
(A) Eysenck

(B) Dollard *
(C) Cattell
(D) Guilford

(a) Norm development
() Item development
(c) Item analysis

(d) Item selection

Codes : 19. Phobias; are acquired through :
@A) (©, @, ®), (a) (A) Past experience

B) ) @, @, @ (B) Classical conditioning
©) (a), M), (), ) (C) Operant conditioning
@) @), @), ©, b (D) Incidental conditioning




20. Which of the following about TAT 1s
correct ?

(@) The TAT remains widely used for
research into areas of dreams,
fantasies, mate selection

() The TAT is popularly known as the
picture interpretation Technigue

(¢) TAT was adopted more broadly by
psychoanalysts and clinicians

Codes :
(A) Only (a)
(B) Only (b)

(C) Only ()
(D) (b} and (¢}

21. A hierarchical model of intelligence was
earlier proposed by :

(A) Vernon

(B) Thurstone

(C) Thorndike
_ (D) Spearman

22. Assertion (A):

Positive Psychology has the goal of
achieving human growth.

Reason (R) :

Demerits of humanistic Psychology has
led to the growth of positive Psychology.

Codes :

(A) Both (A) and (R) are true, (R) is
the correct explanation of (A)

(B) Both [A}Tnﬁ'ﬂ_!) are true, (R) is

not correct_explanation of (A)y——1

T AN UM

23. Arrange the following in sequence :

(a) Tryout of test

(b) Review of literature
(¢) Planning of test

(d) Preparation of manual
Codes :

(A) (a), (), (), (@

B) (), @), (), (&)

(C) (a), (d), (@), (b)

D) (e}, (b), (a). (D

24. Match the following :

{a2) Deductive
reasoning

(b) Inductive
reasoning

(i} Unusual but appropriate
responses to problems

(ii) Unusual but
inappropriate responses
to problems

(¢) Convergent (iii) Conclusion based on

thinking multiple premises
(d) Divergent (iv)} Conclusion based on past
thinking experience and available
evidence
Codes :

(@ (b) (© ()
Ay @i vy @) @
@) @ @) Gv) {)
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25. What is a stimulus that helps one to | 28. Assertion (A) :
recall a memory known as ? An individual will probably do the

(A) Sign | Egizsigsngf what some one commands

(B) Memory aid Reason (R) :

(©) Icon The individual is high in reactance
Codes :

D trieval
(D) Retrieval cue (A) Both (A) and (R) are true, (R) is

the correct explanation of (A)
(B) Both (A) and (R) are tiue, (R) is

26. What is the key element in perception, not correct explanation of (A)

enabling us to focus on only a few of the _ ‘
many stimuli that constantly bombard (C) (A) is true, but (R) is false

our senses ? . _ (D) (A) is false but (R) is true

(A) Attention
29. Match the following :

(a) Variable ratio (i) Reinforcement is
(C) Consciousness schedule given only after a

. specific number
(D) Selection of responses

(B} Cognition

(b} Fixed ratio (it) Reinforcement is
schedule given at regular
27. Arrange the following in correct fixed duration
sequence based on James - Lange (¢ Variable (ii)) Number of
theory : interval responses
(a) Peripheral feedback . schedule required to
produce a
(b) Sensory and motor feedback to the reinforcement
brain changes un-
predictably

(¢) Triggering of a behavioural

response (d) Fixed interval (iv) Reinforcement is

schedule : ‘given with
(d) Experience of specific emotion irregular
: duration
Codes : Codes :
Ay @, @, (), () (a) (b) (c) (d)
(B) (a), (@), M), () A) @ () (iii) (iv)

® i) @ Gv) G
© @ 060 © (v Gi) @ 6

D) (a), ©, @), (b ' (D) Gi) GiD) Gv) @
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30.

31.

32.

33.

We interpret and identify stimuli in
part by matching them to :

(A) Schemas
(B) Memory
(C) Sources
(D) Genesis

The Word Association Test originally
known ds Free Association was first
developed systematically by :

(A) Sigmund Freud
(BY Carl Jung

(C) Alfred Adler
(D) Miller

According to Thorndike, Intelligence is
composed of :

(A
(B)

Operations, content and product

Componential, experimental and
practical

©.
D)

Fluid and crystallized

Abstract, concrete and social

The theory that states felt emotions and
the bodily reactions in emotions are
independent of each other both are
triggered simultaneously :

(A)
(B)

James - Lange
Schachter - Singer
Cannon - Bard

Cognitive Appraisal

34.

35.

WM

In a classical conditioning experiment
a dog starts salivating to different types
of bell. When light and bell are at new
level it salivates only to bell but not to
light. The two processes are :

(a) Stimulus discrimination
() Response discrimination
(c) Extinction

(d) Stimulus generalization
Codes :

(a) (@, @

® (), ©

© @), @

D ), ©

Arrange the following in the sequential
order of memory :

(a) Storage

(b) Decoding
(¢) Encoding
(d) Retrieving
Codes :

@) @, b, ©, @
®) ®), @, ), @
© ©, @), b, @
® @, (), ®, ©

T VT
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36. Match the following : 39. The tendency to stick to solutions that

: . . have worked in the past :
(a) Binet-simon (1) Personal data

intelligence sheet (A) mental state
scale
(B) biases
(b) Thorndike (i) I** Psychological
test (C) mental set
(c) Woodwarth (iii) Handwriting (D) stereotypes
scale
CHUREL Gv) Origin of species 40. Influences are also made on the basis of
Codes : the memory organizations :
(@ (b) (¢) (@) (A) Cues
A) @) () @ aGv) _ (B} Schemata
B) () Q) Gv) @ (C) Span of attention
€ @ 4w G (1) (D) Levelling

D) Gv) @) @) (i)

41, Multiple Selection :

37. Hippocrates classified personality into : Perceptual constancy enables one to

perceive a stable and consistent world

(A) Pkymic, athletic, leptosomatic and that includes -

(B} Endomorphs, mesomorphs,
e ctomorplfs P (a) Shape constancy
(C) Phlegmatic, melancholic, (b)  Size constancy
sanguine, choleric (c) More of size and less of shape
(D) Introverts and extroverts constancy
(d) More of shape and less of size
constancy
38. Togetherness in time and place of two
events is known as : Codes :
(A) Closeness (A} (a) only
(B) Contingency (B) (b) only
(C) Contiguity (C) Either (¢) or (d)
(D) Contact (D) {(a) and (b)

Paper-II 9 B-20-17




42. Whenever a marked difference occurs
in the brightness or colour of the
background, which of the following
happens ?

(A} Closure
(B) Contours
(C) Shapes
(D) Colours

43. The storage capacity of short-term
memory can be increased by which of the
following processes :

(A) Levels of processing
(B) Shaping

(C) Chunking

(D) Levelling

44, Long term memories for auto
biographical events and the contexts in
which they occurred are called :

(A) Semantic memories
(B) Event memories
(C) Contextual memories

(D) Episodic memories

45. What is the process by which we select,
organize and interpret information from
our senses called ?

(A) Perception

(B) Learning

(C) Problem solving
(D) Thinking

Paper:Hl il tutinr sl oas G
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46. gland is situated below the
hypothalamus and has connections with
certain parts of the brain.

(A) parathyroid
(B) thymus

(C) adrenal

(D) pituitary

Read the passage and answer the
question 47 - 50.

The forces of both diffusion and
electrostatic pressure tend to push Na* into
the cell. This sudden influx of positively
charged ions would drastically change the
membrane potential. This mechanism is
precisely what causes the action potential :
A brief increase in the permeability of the
membrane to Na* (allowing these ions to rush
into the cell) is immediately followed by a
transient increase in the permeability of the
membrane to K* (allowing these ions to rush
out of the cell). One type of protein molecule
embedded in the membrane the sodium
potassium transporter - actively pumps
sodium ions out of the cell and pumps
potassium ions into it. Another type of
protein molecule provides an opening that
permits ions to enter or leave the cells. These
molecules provide ion channels, which
contain passages that can open or close.
When an ion channel is opened, a particular
type of ion can flow through the passage and
thus can enter or leave the cell.

The fluid within the cells (Intra-
cellular fluid) and the fluid surrounding them
(Extra-cellular fluid) contain different ions.
The four important ions in these fluids are
organic anions (A~), chloride ions (CL7),
sodium ions (Na ™), and potassium ions EKH.
The ion channels are voltage dependent. In
the process of generation of the action
potential the voltage of the membrane varies
from — 70 mV to +40 mV. In the process of
conduction of the action potential, the
membrane potential varies from a state of
depolarisation to hyperpolarisation.

B-207
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47. When a neuron is in a state of resting

potential which ion is in concentration
inside the cell ?

(A) Organic anions (A7)
(B) Chloride ions (CL)
(C) Sodium ions (Na*+)

(D) Potassium ions (K+)

48. When an action potential is conducted
which ion is in concentration inside the
cell ?

(A) Organic anions (A7)
(B) Chloride -ions (CL™)
(C) Sodium ions (Na*)

(D} Potassium ions (K*)

49. When an action potential is conducted
the voltage of the membrane goes up
to ?

(A) —-40mV
(B) -20mV
© +20mV
D) +40mV
Paper-II e
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50. In a state of hyper polarisation the

voltage of the membrane goes up to :

(4 +40mV

B) +90mV

(C) -40mV

D) -90mV
-00o0-
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